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3300Q, 5% ufaRrus @1 1 Prs w=w £
What is the color code for a 330002, +5% resistor?

A. G, RN, e, "=/ Orange, Orange, Red, Gold

B. e, aReR, e, =@id/Orange, Orange, Black, Silver
C. @9, &, @, |1/Red, Red, Black, Gold

D. &n<t, &1, o, Ii@1/Red, Red, Brown, Silver

4T 4FEH | IH Blell AT F 59T T RS DA F a6 Fert B W T
e 82

A logic function of how many inputs can be simplified using a Karnaugh map with 4
rows and 4 columns?

A2 B.4 C.8 D. 16

SRl aRay 3t 1 uF ST o ufdare s Reaar &2

What is the reactance value of a 1nF capacitor in a DC circuit?

A. e/ Zero B. ¥#a/Infinity C.1 MHz D. 1 MOhm
WREHT H 3FE ................ ]
The unit of inductance is

A. %z /Farad B. &&18/Henry C. 3&@/0Ohm D. gzsi/Hertz
Aol ATRE & ¥ & ugF oS 2

A diode used as a voltage regulator

A. S 3RS/ Zener diode B. affesfr s/ /Schottky diode
C. f&rw mf& seiz/ Fast recovery diode D. gemer Seweieh s /Light emitting diode

wm#4mm#m§lmﬁ?-fﬁ1.5a‘r.aur4mawr34§aa1m%|#aﬁ
@7 UWFIRR &Y IHAAS ... gl

In a battery, four cells are connected in parallel. Each cell has a rating of 1.5V and 4 AH.
The ampere hour rating of the battery is

A. 4 twa/AH B. 16 vwa/AH C. 1.5 wwa/AH D. 6 wwa/AH

0.5A & 9T 2Q & wfeRius @ TR ¥ TR0 # SR ufy Reaer 12

A current of 0.5A flows through a resistor of 2. What is the power dissipated in the
resistor?

A lar/wW B. 0.5 ar./W C.2a/W D. 0.25ar./wW



10.

11.

12.

13.

14.

120pF & 0¥ dufm o & Aol & smifga & womdh ofan ... ¥l

Three numbers of 120pF capacitors are connected in series, the effective capacitance is

A.40 pF B. 120 pF C. 360 pF D. 240 pF

Current in a circuit is

TR / charge

A'm

B. 3 X ¥A#G/charge X time

time

deedt | voltage
C. e / time
60 fs.a./ger #r e afy & goAareh FR 450 6.0 6 g T w1 s g W
a9 F # Ry R @61 e, &l

A car running at a average speed of 60 km/hr covers a distance of 450 km. Time taken to
cover the distance is

D.avezar X A/ voltage X time

A. 7.5 ger/hr B. 6 gei/hr C. 5.5 aer/hr D. 9 wer/hr

R forem g war ar a9 gl
An advantage of switched mode power supply is

A. faF= 37 g W@/Low ripple and noise

B. $vaams a4y {qE w7 8 §/EMI related issues are less
C. =9 gara/High efficiency
D. 3=9 ¥ q@/High switching spike

3 Bl Ureet A §AE @ §C a”) F AT 22 AWG § 26 AWG @ gfg W R
UHE Sclet Bl &2

What is the effect of increasing the gauge of the wire from 22AWG to 26AWG, all
other parameters remaining the same?

A. ufayr agar §/Resistance increases

B. ufadyr wear &/Resistance decreases

C. ufeRty §3= Tean &/Resistance remains the same

D.393% & § 36 # a&/None of these

fr-wEr & dares & e @ i awh el
Doping material for p-type semiconductor is:

A. 3dAF/ Arsenic B. ¥feeaeit/ Antimony
C. Rwu/Bismuth D. #fag#/Gallium

At 3 ¥ feasdt afewaw gavar 87
Among the following which has the maximum efficiency?

A. aadd da/Incandescent lamp B. #rewwe/CFL
C. wa$di/LED D. ufadra ofa/Fluorescent Lamp



15.

16.

17.

18.

19.

20.

21.

e & @ IguE ... # gur Smar #

Signal to Noise ratio is expressed in:

A.dB B. @ee/Volts C. ae/Watts D. &t/ Hertz
T TGHHAD ..ooveseeee & FE HAT B

A Multiplexer does the function of:

A. s1e1 ORF/Data Transmitter B. =T 93e@/Data Selector

C. srT ®&aias/Data Shifter D. grer wadies/Data Amplifier
Teedl TRRE &Y & & ........... ™ # uega e Sar &

Capacity of voltage stabilizer is expressed in:

A, aeT fFIIR/Volt Amperes B. ¥Fqat/ Amperes

C. aree/Volts D. e/ Watts

gieedl I & T H VAT WG IO HHI0T Fled-a1 &2
Which transistor configuration is most commonly used as a Voltage Buffer

A, 39318 3mur/Common Base B. zwafag d@amédr/Common Collector
C. 333f@8 3ewee/Common Emitter D. 394w w3t/ All of the above
UF FHIGH TGS F Th B0 72 B, ¥ SHST A BT .. 4

One of the angle of a parallelogram is 72 deg, Its adjacent angle is
A. 181 /deg B. 72 %./deg C. 108 2./deg D. 162 ®./deg

A Rz S & v aeear afty ... e TR
For a Wien Bridge oscillator the voltage gain should be

Al B.2>3 C. <1 D.1/2n

TH SRR Srafe Rt F, R odl deear & @ Rt i R Wi aRRve @ o
B3 ¥ el gooa F uiat fr oo w @ W o wana usar 87

A transformer is connected to a fixed ac voltage at the primary and a fixed load resistor at
the secondary. What is the effect of decreasing the number of turns in the secondary

winding?
A. fecirrs 9rr a8 St &/Increase the secondary current
B. 5% 4rr g€ el § Decrease the secondary current

C. feeius Rt W % usmg € gsan ¥/Have no effect on the secondary current
D. yruffies arT 98 el &/Increase the primary current



22, @ fow ow uftoy & A Gl w9 @ 3w Fa Rem?
What will be the amplitude of the output waveform of the circuit given below?

w o 20K
10K
e b e -
Ve 0
] .,
Vout
-1V
1 L

A. 1V et & R/peak to peak B. 2V frew & frar/peak to peak
C. 3V ffrew & frer/peak to peak D. 4V e & frsr/peak to peak

23. e #fREf qu ooy o nfder ooy Ailggw = €7
What are the circuit modules contained in a Phased locked loop circuit?

A. 329 qn@ ey, qofaT 7 dfia
High Pass filter, comparator and VCO
B. &war gafe, ¥F TR fheet @ dEd

Phase comparator, bandpass filter and VCO
C. 5 URT fFecy, Tl geliaT T RATgas

Low Pass filter, phase comparator and demodulator
C. @l gafed, o U ey 7 afa

Phase comparator, low-pass filter and VCO

24, @ few afwy @ e w87
What is the function of the circuit given below?

i oA
= ~_
" Fn, Vo
.
i
A, 3uiua gafs/Non Inverting amplifier B. @eewas / Integrator
C. R#ga/Differentiator D. afer/Oscillator



25.

26.

27.

28.

29.

30.

RE & wed F Sl s g ad &2
Which of the following is not true for an inductor?
A. W& Foll & HSRUT X Thell &
An inductor can store energy.
B. W& 4T deeife §9 ¥ T g5 g
An inductor current cannot change instantaneously.
C. O, “3ua g Idr Sar o wwar ¥
An inductor acts as open to dc.
D. 3f# dieear # &7 aR & R B 39T BT ST wwa &)
An inductor can be used to reduce ripple voltage

{WE FHDOT GO 2x — y = 3, —4x + 2y = —6 & wannA K wEqA .. &
Number of solutions for the system of linear equations 2x — y=3,—4x+2y=—6is
A. 3&d/infinite B. w&aAM/unique

C. &/two D. ¢ g a&i/no sélution

mmmﬁmmmmﬁsmma;mwm ......... &l

In an Operation Amplifier circuit, ratio between differential gain and common-mode
gain is

A, EIRIR/PSRR B. Hitasmamt/CMRR

C. @i /Noise figure D. @few W#id/Gain margin

fArfafee uimy & ¥ st dNe senfaRa 22

Which of the following circuit has a built in Hysteresis?

A, freex/Filter B. z@aR/Timer
C. & & foeu-vata/JK Flip Flop D. R RaR/Schmitt Trigger

m;mmwasmmaﬁzzov:msmammm%mmzsomAms
zﬁrumuaﬁaaa"r%ifa-cﬂw1onmga=un22Vnnsummm%lcimzﬁram
R &7

The primary of a transformer is connected to a 220 V rms source and has a current of

250 mA ms. The secondary is providing 22 V rms across a 100 load. What is the
efficiency of the transformer?

A. 92% B. 90% C. 88% D. 95%
e WikaTcHE wade ¥ aqur o= ¥7

What are the characteristics of an ideal operational amplifier?

A. e fdter ufaem, o P uidera, aeT ¥ freaw
Infinite output impedance, zero input impedance, infinite bandwidth

5
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31.

32.

33.

34.

3s.

B. o s ufaamar s=a foder ufaam, ea # fawr
Zero output impedance, infinite input impedance, infinite bandwidth

C. ¥a fawie ufdamn, g B wfaerar, et d= faear
Infinite output impedance, Infinite input impedance, narrow bandwidth
D. wa fda ufder, o B wiaarar, wdht # faear

Infinite output impedance, zero input impedance, narrow bandwidth

o W A REwdr ooy 1 36 gRy = ¥?
What is the ripple frequency of a full wave bridge rectifier circuit?

A. T8y oy angl & WA/ Same as the input AC frequency

B. @ vl 3ngfy @1 guE/ Twice the input AC frequency

C. forrer oy 3mghy @ 3men/Half the input AC frequency

D. e vl amgly & abegen/Four times the input AC frequency

fer uftuy & #R @ @ g u e 7
What is the current through the load in the given circuit?

1:4
25V g“ E 1 kO

A. 10 mA B. 100 mA C.25mA D. 6.25mA
FURTT I FApde & IR RAlt dulty Reear & sror gw smar @, O &

If the capacitor in a simple RC integrator becomes open due to a failure, the output

A. SO 9 & 9g Areen/ Would increase exponentially

B. 3y & FAW & A9 &/ Would measure the same as the input
C. g9 dee a2/ Would measure zero volts

D. 304w # & H1§ a/None of the above

uF gF B 497 A2 fAea ¥ FEAT ORI L. ¥

Area of a circle is 491 cm? . Its circumference is

A, 14z 3.#./cm B. 7 &.#./cm C.49n a9 /cm D. 328.#./¢m
FES vades oy Aol &, oifE F o # IE T W HAE s & @
S §haT &

In class AB push-pull amplifier, crossover distortion is avoided by biasing the transistors

A. 3ia®F &9/In cut-off region
B. 3id® &7 & U3 R/ Slightly above cut-off

6
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36.

37.

38.

39.

40.

41.

42

C. dqf® & drer it/ Slightly below saturation
D. @qfa &3/In saturation region

S fHTee e = 10sin1000nt 9 gt & 3mgfy o=r &2
What is the frequency in Hz for the sinusoidal signal e = 10sin1000nt?

A. 1000x B. 1000 C. 500 D. 500x

T DA F T F Pla-d sfF v oG ¥
Which of the following is not true for a BJT?

A. 4R @3f3a g/ Current controlled device

B. aieear f=if¥a gfts/ Voltage controlled device
C.gudt &y & war | §/Has two PN junctions
D. & ef#se gk, Three terminal device

8085 ATFHITVT &Y sTeT 7 W TH gy Fomr: ... B

Data and address bus width of 8085 microprocessor respectively are

A. 8 Tere/bits, 8 fae/bits B. 8 fae/bits, 16 e /bits
C.16 R /bits, 16 fae/bits D. 16 fae /bits, 8 Re/bits

FrfefEa & ¥ Rrast Foners aoena seniE 32

Which of the following has negative temperature coefficient?

A. fafd gamdl/Strain gauge B. ¥/ Thermistor
C. 3&%/RTD D. amge#/ Thermocouple

I TIT B GTEA QI P F e ¥ W 3R Inwan?
What will be change in capacitance if the area of the plates alone is doubled?

A, 391 8 Sean/Becomes half

B. g7 @ srean/Becomes double

C. % oRadar 7 3mean/Does not change
D. =l 2 Smeem/Increases to four times

aﬁm%ﬁ#m#l%ﬁwﬁaﬂwwuﬁﬂv%ﬁmmﬂaﬁ%?ﬁ
@ ¥ TF I AR F g o ufaiy &= fem?

If a one metre long wire has a resistance of 100 milli ohms, what will be the resistance of
another piece of wire of the same material and length, but with twice the diameter ?

A. 25 el 3@/milli ohms B. 50 fa=alr 3/milli ohms

C. 100 fareelr 3i3t/milli ohms D. 200 freeh @/milli ohms

160 =1 Wizer 3murdt =iy # wAPE = &2

What is the Hexadecimal equivalent of 1607

A.0A B. AA C.A0 D. A5
7
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43,

44,

45.

46.

47.

48.

IR AT UASE b AT lms FAAYUR A B = § @), v qul @ & e damat A
Tig S v aur I 35U uHIS ¥ I saafna fvad o amgfy feae @eh?

What is the frequency of the sinusoidal signal that occupies five horizontal divisions and
three vertical divisions on a CRO for one complete cycle, if the time base is set at Ims
per division?

A. 100 st/ Hz B. 250 #est/Hz C. 1 frait gest/KHz D. 200 esi/Hz

T deft & 75 ooy dieear 10 3 1 5@ 59 99Q & uftius & UR T R smar
¥, o gfRRgs F f B deear 9.9 & &b @ wias vfeus fecen §72

The open circuit voltage of a battery is 10V. When it is connected across a resistor of
99Q), the voltage across the resistor is 9.9V. What is the internal resistance of the battery?

A.1Q B. 10Q C.0.1Q D.9.9Q

frrafafta & @ deiv (@t R 371) S6Rir & anr stqa-ar J6 82
Which of the following is not an advantage of BGA (Ball Grid Array) packaging?

A. 3=a B g=ica/High pin density

B. fF =g ufairr/Low thermal resistance
C. 3 95 W&ca/low lead inductance

D. W& Wiestigar/Easy solderability

e TER @ TR @ P NS 36 ¥l FHA § TR GE e Tl
Sum of three consecutive even numbers is 36. The largest among these is
A 12 B. i4 C. 10 D.18

W T T wenfaa FAigerer yomelt Hle-dr ¥7

Which modulation scheme is most affected by noise?

A. sfa #Ageet/Frequency Modulation
B. 3ma# Algea=1/ Amplitude Modulation
C. g P Agad/Pulse code Modulation
D. s #Aige=/Phase Modulation

= - (R e or | Ry B w “0” & av e W, @F AT 3T o "1 @

The logic gate that will have HIGH or "1" at its output when all the inputs are LOW or
“O”

A. 3R FT/0R gate B. AND %z/gate
C. ar #iIT/NOR gate D. v IR A/EX-OR gate

8
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49, R RTRT A Y & 71 |7 &2

50.

31.

52.

53.

What is the value of “Y” in the given figure?

A —
B —
) o
1 — .
1
Al B.0 C. A+B D.AB

TRy 7T # O W AT e 3 PRk # ¥ Rewen suger fea S 9

Which of the following is used to measure the current in a circuit element?

A. FHIR # TR/ Ammeter in parallel
B. #oft 3 %efer/Ammeter in series

C. g#ia 3 aeeaet/ Voltmeter in parallel
D. sofr 3 areealier/Voltmeter in series

m##m-mm#mmﬁmaﬁ%?
Which of the following is not an architecture of analog to digital converter?

A. AT wieTwes/Successive approximation
B. #3eX Yu/Counter-ramp

C. f& wavr/Dual slope

D. 3R-231 #s7/R-2R ladder

—cosx & e F —sinx T
Derivative of —sinx with respect to —cosx is

A. cotx B. tanx C. -cotx D. —tanx

A BT o F IgER vieRivs @ 95l urT = e
What will be the current through the resistor in the figure given below?

DF —

-t 100
SV T

A 0.5A B. 0.44A C.oA D.0.56 A

9
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54,

55.

56.

37.

58.

59.

8085 ABHENRAT & Poafita &@ &g 30T IEEA B FRE WA F O uge "o w

Name of the register which stores the address of the next instruction to be executed in
8085 microprocessor

A. ®F qiget/Stack pointer B. =g / Accumulator
C. wtams Fr5el/Program counter D. ga& usii/Index register

#° ew R #, ofoRus R3 & el afe & andea &t
In the given figure, calculate the power dissipated in resistor R3

v = R2 R3

R1=R2=R3= 1kO
A. 6mW B. 4mW C.16mW D. ImW

vF 1kHz feaa o7 wier st oas IMHz SRR & smw #gfea fear snar 1 |@=vor &
fore nftye s RvaR R §?

A 1MHz carrier is amplitude modulated using a 1kHz signal. What is the bandwidth
required for transmission?

A. IMHz B. 1.001MHz C. 1kHz D. 2kHz

100A & w8 3 3Tg g & o= g 0G5 I .o &l

Device used for switching high current of the order of 100A

A. Ba#®/Regulator B. wuféa/Contactor

C. iz f@/Reed relay D. #5R ¥2es RA/Mercury wetted relay

szg Rt f wgfa ouw fasad &2

What is the frequency range of audio signals?

A. 20Hz to 20kHz B. 20kHz to 2MHz

C. 10Hz to 10kHz D. 10kHz to IMHz

WURVTATT Wgw el Had RGS8 #r sfdrenare wfaamar ... %l

The characteristic impedance of the commonly used coaxial cable RG58 is

A.75Q B.50Q C.100 Q D.58 Q)
10
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60.

61.

62.

63.

64.

65.

66.

67.

VLSI gfteat 3 wraroraan wgw Rfves utafrdr o 32
Which digital technology is commonly used in VLSI devices?

A. &dwa/TTL B. &dwa/ECL
C. Hrwaama/CMOS D. 3Ré&wa/RTL

7V rms & Smafra fvaa $ Rrex deear frae &2
What is the peak voltage of a sinusoidal signal of 7V rms?

A.99a/V B.7 av./V C.3.5 ar/Vv D. 14 ay./v

ffafa # @ wla v 5 o g 7ot & wRefla a8 &
Which of the following will not convert light energy to electrical energy?

A. USRI 3cHed STAE/Light Emitting Diode B. %% =ra3/Photo diode
C. wre gifdrex/Photo transistor D. st ¥a/Solar cells
i & oo Roes aigea qoir a8 &2

Which is not a digital modulation technique?

A. ToW @5 Alga/Pulse code modulation

B. e favums gofst,/ Frequency shift keying

C. wenn favumer gofraet/Phase shift keying

D. war #ige=/Phase modulation

T # @ #la e 59 @) g 5ot # wRafia awer &2
Which of the following convert chemical energy to electrical energy?

A, R Fe/Load cell B. i 8d/Dry cell
C. 8k d8a/Solar cell D. tegft/LED

Ffafa & ¥ = AREVRW #T qe wew a8 &7

Which of the following is not a basic element of the microprocessor?
A. F§arge/ Accumulator

B. 3/paforcia & gaé (wwery)/ Arithmetic Logic Unit (ALU)

C. Waeex/Register

D. Tt/ Timer

EafafEm ¥ & wr dnhe =i &2

Which of the following is a volatile memory?

A. sH/EPROM B. §s/EEPROM
C. &/ DVD D. w8 #/SRAM

ﬁmmmmmmammﬁammwmmm
Which conformal coating material is difficult to remove chemically using a solvent?

A. fpfes 7 Acrylic B. dtet/Parlyne
C. faferm=/Silicone , D. ?f&=1/Rosin

11
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68.

69.

70.

71.

72.

73.

74.

75.

fAfafaa & ¥ sig-ar gdis A 87
Which of the following is a universal gate?

A.s/AND B. 35/NAND C. 3iR/OR D.vw 3R Fe/XOR

g gt 9 woErEw @, a9 Ryl 6 g & weee 8 &= @2

What is the operating region of a bipolar junction transistor when both junctions are

forward biased?
A.{f&®/Linear B. #gfd/Saturation
C. &c 3%/ Cut off D. wftha/ Active

g A=1a B=1%¥ & AB + AB + A& aifiees ®od & A &1 &m?
What will be value of the logic function AB + A B + A when A=1 and B=1?

A0 B.1 C.AB D.AB

el # SoTE @ A TS &g, WA AT oRudl # gw 6w gl @ §2
What is the packaging technology used in integrated circuits to reduce space in PCB?

A. taeadl/SMT B. fidé/BBT
C. gnmdt/DIP D. drrermaanzg /VLSI
a1 ¥ f&gu few v ©oR @ IgEees e & & gifis 8f e 6 aftear 2

The process of making a mechanical joint between the stripped end of a wire and a
connector pin

A. Rftder/Chipping B. ar¥ 4if$er/ Wire bonding
C. fpftier/Crimping D. #3f&7/Braiding

T TEHAR A fraeh fr-ua wfRRr €2

How many P-N junctions are there in an SCR?

Al B.2 C.3 D.4

TF 3B W & A F 1§ e U3 T YR IER F=4 82
What is the common shape of pad corresponding to pin number 1 of an IC?

A. g%/ Square B. f@or/Triangle  C. M@ /Round D. 33/ Oval
TIHRE FIE & ATAG .......... &l
HRC fuse stands for

A. 713 Tgie FIRATE w=gE/High Rupturing Capacity fuse
B. &% Tz o wg¥/High Rated Current fuse

C. s frufea & wgm/High Reactive Current fuse

D. 3w & & 3§ 78/ None of the above
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76.

77.

78.

79.

80.

50Hz ®ogem$ & genford, o) ot & Y PRl WRor Alex & geawet T @ e
&t

Calculate the synchronous speed of a three phase induction motor with four poles,
operating from 50Hz supply.

A.1000 rpm B. 30 rpm C. 200 rpm D. 1500 rpm

o g 2 o &dme e @ fefeie (fan out) Rraear 12
What is the fan out of a typical 2 input TTL gate?

Al B.2 C.10 D.20

8038 werer Ffery o1 et TRy e &7
What is the output waveform of 8038 function generator?

A. g3957/Square B. @1/ Triangle
C. Su1/8Sine D. 394w w3t/ All of the above

Th IReY #, v & Aoh F 3w 2 Q F vw ufdius @ [pF @ ve §ORT 2 oy
® T fORF .............. |

A circuit has a resistor of 2 Q and capacitor of 1uF connected in series. The time constant
of the circuit is

A. 2 psec B.2 X107 ¥./sec C.29./sec D. 0.5 ?./sec

Th yadE & ¥ #, o wedina g o SR aue e & PeefRd § ¥ R
3qEat @ g AT 7

Which of the following conditions are needed to properly bias an NPN transistor as an
amplifier?

A YR & =T deear F 3UAnT
Apply a large voltage on the base

B. S/ 3MUR WY @1 Jo@aw au Seuete/ IR 61 & uiaed a3
Forward bias the collector/base junction and reverse bias the emitter/base junction.

C. n-9dR &1 Wt 3 vAeHS Aeedl aW p-TBR A WHEN F HOTCAD Ao ZrEET|

Apply a positive voltage on the »-type material and a negative voltage on the p-type
material.

D. 3MUR/3ewsid W 1 A a9 MR /FWRE W @ yiaed 39w
Forward bias the base/emitter junction and reverse bias the base/collector junction.

o 3 e o ok ok ok ok ok e ok
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